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Special credit will be given for accuracy and relevance
in the answer. Marks will be deducted for incorrect
spelling, untidy work and illegible handwriting.
The weightage for each question has been
indicated in the margin.
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EEC-V (UT-179/15)
English Version
1. Answer any two questions : 20 x2 =40

(@) What do you mean by comparative cost and
opportunity cost ? Explain how Ricardian
theory can be re-established with the help
of opportunity cost doctrine. 6+ 14

(b) Show that the gains from international
trade is the sum total of production and
consumption related gain.

(c) What are the -characteristics of public
debt ? What are the main sources of public
debt ? Is there any burden of public debt ?
Explain this with the help of Domar's
approach. 5+5+10

(d) Explain how the Government tries to
reduce the inequality in the distribution of
public revenue among the states on the
basis of the distribution of tax revenue and

Government aids.
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2. Answer any three questions : 12 x 3 =36

()

Discuss the nature of relationship between

Ricardian theory and Heckscher-Ohlin

theory.

(b) What do you mean by shifting of taxation ?
What are the factors on which it depends ?

(0 What do you mean by flexible exchange
rate ? Write down its merits and demerits.

(d) Distinguish between international trade
and internal trade in respect of the national
economy.

() Discuss the role of World Bank in
international economy.

4] Discuss the effect of income tax on work-
effort.
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3. Answer any four questions : 6x4=249
() What do you mean by a mixed good ?
() What do you mean by devaluation of
currency ?
(c) What is the difference between Tariff and
Quota ?
(d What do you mean by expenditure
switching policy ?
() Discuss the canons of ideal taxation.
i) Describe the features of capital gains.
(g) "Balance of payments always balances."
Explain.
(h) On what factors does supply of foreign
currency depend ?
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